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1. TTPCOOO113
, 2 4KL 0.21% TTPTO00O0113
EPOO1
A=1 5m




SPK19040030 0 -0003
11.35% : 78.84% : 9.81% : 0.00%
( ) ( ) ( ) (
( )
.8m3( 0.6) 11.35%
( 1,2.3 ) 0.8m3( O0.6m3)
37.81%
( )
21.63%
19. 40%
1.2
2 4KL 9.81%
A=2 C=2
D=2 , , E=1




SPK19040002 -00014
DI D 2.0km (1.0km ) 1 m3
48. 90% 36. 46 % : 14. 64 % 0. 00% 72
( ) ) ( ) (

] [ ] MTPCOODO 1
10t 48. 90% 10t MTPTO0O0O1
( ( ) ) ( ( ) )

( ( ) RTPCO0O0OO
36. 46% RTPTO0O0OO
1. 2 TTPCOOO
, 2 4KL 14. 64% TTPTO0O0O 1
EPOO1
A=1 B=3 . 45m3 ( 35m3)
c=1 ( ) D=1 DI D
F=1 2.0km (1.0km

N~



SPK19040015

mo >
nnon

R R R

1m 2m
32.95% : 54, 45 % : 12. 60%
( ) ( )
)
32.95%
0. 35m3 0
(
54, 45%
1.
2 4KL 12. 60%
B=2
D=1




SPK19040019

1m 4 m
.04 % : 4
( )
11. 29%
1. 78%
0.11%
51. 01 %
22.47%
8. 56%
4. 67 %
0.11%

o




0-0023

SPK19040019 0O -0006
1m 4 m 1 m3
13.18% : 82.04% : 4. 78% : 0. 00% 1,703

( ) ( ) ( ) ( )

Im 4m D=1




SPK19040017 0O -0007
1 m2
0. 00% : 100. 00 % : 0. 00% : 0. 00% 404
( ) ( ) ( ) ( )
RTPCOO0O0Q2
100. 00% RTPT000Q2




0-0025
SPK19040056 0 -0008
18-8-40BB 1 m3
: 2.47% 70. 17% : 27.36% 0.00% 62,265
( ( ) ( ) (
< > ( ) KTPCO0O0OGQO
0. 8m3( 0.6) 2.0t 1.93% [ KTPTO00OO
( 1,2, ( 2 ) 0.8m3 2.9t
< > ( ) KTPCO0OO1
0. 8m3( 0.6) 0.54% KTPTO0O0O01
( 1,2,3 0. 8m3( 0. 6m3)
RTPCO0O0O01
21. 01% RTPTO0O0O01
RTPCO0O0OO
20. 72% RTPTO0O0OO
RTPCO0O0OO
9.71% RTPTO0O0OO
RTPCO0O0OO
8.71% RTPTO0O0OO
( ) ( ) EROOO9
TTPCDOO 1
18, 8, 40 22.55% 18-8-25(20) W C 60% TTPTO00O0GQ
W/ Cc(60 ), (
1.2 TTPCOOO 1]
, 2 4KL 1.11% TTPTO0O0O 1




0-0026

SPK19040056 0O -0008
18-8-40BB 1 m3
: 2.47% : 70.17% : 27.36% : 0.00% 62, 265
( ) ( ) ( ) ( )
( ) ( ) EZOO09
E9999
A=2 18-8-40B8B c=1

D=1 ( ) E=1 -




SPK19040044 0 -0009
( ) 50cm 1 m2
17% 14.22% 78.61% 0. 00% 17,586
( ) ) ( )
> ( KTPCO0O0O0O14
25t 7.17% [ KTPTO00014
1,2, 3
RTPC0O000(Q2
4. 60% RTPT000(Q2
RTPC0O00OO0(QS5
4. 23 % RTPT000(Q5
RTPC0O00O0Q9
2. 75% RTPT000(Q9
RTPC000(Q1
2.64% RTPT000(Q1
( TTPC00273
50cm 78. 61 % 500 mm TTPT00273
EPOO1
A=2 B=1 ( ) 50cm




0

0.00%

-0010

1

]
0.

8m3 2.9t

150

50mm




0-0029
40052 0O -0010
mm 1 m3

8.16% : 48.32% : 43.52% : 0.00% 3,279




( ) SPK19040052 0 -0011
RC- 40 1
48.32% : 43.52% 0.00%
( ) ) (
< > ) KTPC
0. 8m3( . 9t 8.16% [ KTPT
. 8m3 2.9t
RTPC
24.67% RTPT
RTPC
14.15% RTPT
( ) ( RTPC
8.34% RTPT
( ) ( EROO9
TTPC
40 Omm 40. 98% RC- 40 TTPT
1. TTPC
2.54% TTPT
EPOO1
A=2 B=1 RC- 40




0-0031
SPK19040052 0 -0011
RC- 40 1 m3
8.16% : 48.32% : 43.52% : 0.00% 3,279

( ) ( ) ( ) ( )




( SPK19040054 0O -0012

t=10mm 9. 8k N/ m 1 m2

: 0. 00% : 23. 88% : 76. 12% 0.00% 794
( ) ( ) ( ) (

RTPCO0O00(Q2
17. 79% RTPT000(d2
RTPCO0O00Q9
6. 09% RTPT000Qd9
( ( TTPCOO0OO4S8
10mm, 9. 8k N/ m 76. 12% 10mm, 9. 8kN/ m TTPT00048

EPOO1

A=1 t310mm 9. 8k N/ m




SPK19040057 0 -0013

18-8-40BB 1 m3
: 3.30% 66. 35% : 30.35% 0.00% 48,56

( ( ) ( ) (
< > ( ) KTPCO0O0OGQO
0. 8m3( 0.6) 2.0t 3.30% [ ] KTPT000(
( 1,2, 3 ( 2 ) 0.8m3 2.9t

RTPCO0O0O 1
21.75% RTPTO0O0DO 1
RTPCO0O0O0G(
15. 55% RTPT000(
RTPCO0O0O0G(
11.95% RTPT000(
RTPCO0O0O0G(
6. 20% RTPT000(

( ) ( ) ERO0O0O9
TTPCDOO 1
18, 8, 40 28.91% 18-8-25(20) W C 60% TTPTO00O0Q

W/ C(60 ), (

1.2 TTPCOOO 1
, 2 4KL 1. 44% TTPTO0O0O1

E99909

o



18-8-40BB

3.

30%

66 .

SPK19040057

35%

30. 35%

0.00%

0

-0013

1

0-0034

m3
48, 568

(

)

)

A
D

=N

18-8-40E

B

c=1




SPK19040150 0 -0014

18-8-40BB ( ) 1 m3
: 4. 66 % 390.75% 55. 590 % 0.00% 27,490

( ) ( ) (
< > ( ) KTPCO0O0OO0O(6
0. 8m3( 0.6) 2.0t 4. 40% [ KTPT000(d6
( 1,2,3 ( 2 ) 0.8m3 2.9t

( ) ( ) EKOOO
RTPC000(2
12.78% RTPT000(2
RTPC000(1
10.97% RTPT000(1
( ) ( ) RTPC0O0O0OdS6
6. 71% RTPT000(6
RTPCO0O0O0(Y
6. 60% RTPT000(d9

( ) ( ) EROO0O
TTPCDOO10
18, 8, 40 53.64% 24-12-25(20) W/ C 55% TTPT00343

W/ c(60 ), (

1.2 TTPC0O0013
.2 4KL 1.84% TTPT00013




0-0036

SPK19040150 0 -0014
18-8-40BB ( ) 1 m3
: 4.66% : 39.75% : 55.59% : 0.00% 27,490
( ) ( ) ( ) ( )
) ( ) EZ0O09
E99909

“0O>
o

R DNDN

18-8-40B8B

AT
nmnn
PNDN




o>
i

[N Y

SPK19040152 0 -0015
1 m2
0.00% : 100. 00% : 0.00% : 0.00% 7,449
( ) ( ) ( ) ( )
RTPCOOO10
45. 50 % RTPTO00010
RTPCO000(2
30. 09% RTPT000(d2
RTPC000Qd9
11.37% RTPT000(d9
( ) ERO0O0O9
EPOO1
B=2




o>
i

=N

SPK19040152 0O -0016s6

1 m?2

0. 00% : 100. 00 % : 0.00% : 0.00% 10, 131
( ) ( ) ( ) ( )

RTPCO0O0O0OJO
33.45% RTPTO0O0O01JO
RTPCO0O00(Q2
22.13% RTPT000(d2
RTPCO0O00Q9
8. 36% RTPT000Qd9

( ) EROO0O9

EPOO1

B=2




0-0039

SS000179 0O -0017
[ 1300m2 1 m2
( )
1. 00 M2
( )
1
1 m2

A=3 [ 1300m2




SPK19040157 0 -0018
.5t FRP
; 9.02% : 28.39% : 62.59% : 0.00%
( ) ( ) ( ) (
> ( )
25t 9.02% [ ] 251
( 1,2,3 )
16. 68 %
5.60%
5.29%
( ) ( )
31.69% 30t
30t
TTPCD
18, 8, 40 30.90% 21-8-25(20) W/ C 55%
wrc(e6o ), ( )
A=1 2.5t B=1 FRF
c=2 18-8-40BB E=1 0.17m3 |0.23m3
F=5 2.80m2 3.00m2 | =1
J=1 -

o




. 5t

9.

02%

28.

SPK19040157
FRP

39% : 62.

59%

0.00%

0

-0018

0-0041

8,888

( )




SPK19040158 0 -0019
.5t 25t 1
38.29% : 61.71% : 0.00% : 0.00%
( ) ( ) ( ) ( )
> ( ) KTPCO0O0O 1
25t 38.29% [ ] 251 KTPTO0O00O1
( 1,2,3 )
RTPCO0O0O0Q
22.09% RTPT000Q
RTPCO0O0O0Q
21.15% RTPT000Q
RTPCO0O0O0Q
18.41% RTPT000Q
C ) C ) EROOO
EPOOL

A=1 2.5t B=1 25t




SPK19040161 0 -0020
.5t 25t
; 25.62% : 53.64% : 20.74% : 0.00%
( ) ( ) ( ) (
> ( )
25t 25. 62 % [ ] 251
( 1,2,3 )
24.68%
14.76%
14.15%
( ) ( )
( ) ( ) 916
016 20.74%
10
A=1 2.5t B=1
C=10 10 D=2
E=1 25t F=1 (

o




. 5t

25.

62%

53.

SPK19040161

64 % : 20.

25t
74 %

0.00%

0

-0020

0-00414

3.277

( )




SDT00031

0

-0021

0-0045

m3

1. 00 M3
1
1 m3

o>
non
[N Y

O ®
non
e




SPK1904014

2.0 (1.5km )
48.90% . 46% : 14.64% : 0.00%
( ( ( )
[ ]
48.90% 10t
( ) ( ( ) )
( )
36. 46 %
1.2
, 2 4KL 14.64%
A=1 Co ( B=1
c=1 DI D D=10 2.0k
E=1

N~




SPK19040062 0O -0023
7.39% : 89.77% : 2.84% : 0. 00% 11, 499
( ) ( ) ( ) (
( )
28m3( 0. 2) 1.7t 7.39% 1.7t
( 1,2, 3 ) 0.28m3( 0. 2m3)
47.45%
( )
21.81%
16. 31%
4. 20%
1.2
, 2 4KL 2.84%
A=1 B=1
c=2




SPK19040051 0 -0024
18-8-40BB 1
34.41% : 61.26% 0.00% 24,725
( ) ( ) (
) KTPC
.9t 4.33% [ ] KTPT
( 2 ) 0.8m3 2.9t
RTPC
19.60% RTPT
RTPC
10.32% RTPT
( ) RTPC
3.90% RTPT
( ) EROOO
TTPCD
60. 05 % 18-8-25(20) W/ C 60% TTPTO
1.2 TTPC
1.21% TTPT
E99909
A=1 B=2 18-8-40BB
D=1




0-0049

SPK19040051 0 -0024
18-8-40BB 1 m3
4.33% : 34.41% : 61.26% : 0.00% 24, 725

( ) ( ) ( ) ( )




0-0050

SDT00035 0 -0025
1 m2
B 1.00mMm2
18, 8, 40 0. 2463

W/ C(60 ), ( )

1

1 mQ2
A=1 B=2
C=1 18-8-40BB E=1 -
| =1 - L=1




0-0051

S$1020 0 -0026
25t 10
1.200
3.400
2.000
< > (
25t 1.300
1,2, 3
#09
16
10
1
A=1 25t




0-0052

S1020 0 -0027
25t 10
0.800
1.600
0.500
1.400
< > (
25t 0.700
1,2, 3
#09
2
10
1
A=2 25t




( ) SPK190400014 0O -0028
4. 0m 10, 000m3
: 22. 33 % : 64. 45% : 13. 22% : 0. 00%
( ) ( ) ( ) (
> < >
, 7t 12. 71% , 7t
( 1,2 ) ( 1,2 )
> ( ) ( )
9. 62% [ ]
11 12t 11 12t
( ) ( )
43.63%
20. 82 %
1.2
, 2 4KL 13.22%
A=3 4, 0m B=1 10, 000m3
c=1




( ) SPK19040007 0 -0029
50, 000m3 1 m3
44.75% 37.76% : 17.49% 0.00% 195
( ( ) ( )
( ) ( ) MTPCO0O0014
2 44.75% 2 MTPTO00014
0.8/ 0.6m3 0.8/ 0.6m3
C ) C ) RTPC000Q6
37.76% RTPT000(Q6
1. TTPCOOO13
L2 4KL 17.49% TTPTO00013
EPOOL
A=1 B=1 50, 000m3




S1050041

0

-0030

100

0-0055

m2

. 152

. 152

. 152

. 152

0-0031

%%

#09

10




0-0056

28 ( ) S9035 0 -0031
2.0t 0.8m3 3 1
( )
1.00
, 4KL 112.00 L
> ( )
0.8m3( 0.6) .9t 1.06
( 1,2,3
1
1
A=109 Y 0.8m3 B8112 L/
c=1 ( D=1.06 ( I )




S1050043

0

-0032

100

0-0057

m2

. 143

. 143

. 143

. 143

0-0031

%%

#09

10




0-0058

S1050029 0 -0033
22x1524x3048,802kaq/ 23 1
( )
22x1524x3048, 802kg!/ 23.000
90
( )
22x1524x3048, 802kg!/ 1.000
1
1
A=3 22x1524x3048, 80Rkg/ B=1
c=23 ( ) D=2




0-0059

S1050029 0 -0034
22x1524x3048,802kaqg/ 11 1
( )
22x1524x3048,802kg/ 11.000
90
( )
22x1524x3048,802kg/ 1.000
1
1
A=3 22x1524x3048,802kg/ PB=1
c=11 ( ) D=2




0-0060

( BH ) SHD10003 0 -0035
10
0.278 1*0. 278
0.278 1*0. 278
0.278 1*0. 278
1t
, 110cmx 108cm 10. 000
- 28 _ ( ) 0-0036
2.9t 0. 8m3 0.278
#09
4 %
10
1
A=1 1t , 110cmx 108cm)




0-0061

S9035 0 -0036
1
1.00
98.00 L
0.8m3( 1.39
1
1
A=2 0.8m3 B=98 (L/ )
c=1 D=1.39 ( I )




0-0062

SHD10011 0O -0037
6 m 10

0.069 1*0.069
0.069 1*0.069

- 28 _ ) 0-0038

2.9t 0. 8m3 0.069

1
10
1

A=1 6 m




0-0063

S9035 0 -0038
1
1.00
74.00 L
0.8m3( 1.26
1
1
A=2 0.8m3 B=34 (L/ )
c=1 D=1.26 ( I )




SHD10037

0

-0039

0-006 4

0.500
0.100
2.000
-28 ) 0-0040
. 9t 0. 8m3 0.500
1




0-0065

28 ( ) S9035 0 -0040
2.9t 0.8m3 2 1
( )
1.00
, 4 KL 69.00 L
> ( )
0.8m3( 0.86) .9t 1.16
( 1,2,3
1
1
A=12 Y 0.8m3 B269 L/
c=1 ( ) D=1.16 ( I )




0-0066

S1050031 0 -0041
0 40 ( m3/ h) 1
0.140
( ) 0-0042
150 mm, 10m 1.000
7.5kw
-16 _ 0-0043
25k VA 1.000
2
#09
3 %
1




0-0067

( ) S9000045 0O -0042
150mm, 10m 7. 5kw
> (
150 mm, 10m 1.20
7. 5kw
1
1
A=3 150 mm, 10m /)




0-0068

16 _ S94609 0 -0043
25k VA 2
, 2 4KL 26.00 L
> (
25k VA 1.20
(. 1,2,3 )
1
1
A=6 25k VA B=2 L/
c=1.2 ( ) D=3 2




SPK19040089 0 -00414
450 600 mm 500mm 1 m
0. 00% 6. 24 % 93. 76% 0. 00% 10, 172
( ) ) ( ) (
RTPCO0O0O0Q2
4., 46% RTPT000Q2
RTPCO0O00Q9
1.78% RTPT000Q9
( TTPC00192
< > ( ) 93. 7T6% 500 mm TTPT00192
500mm ( )
E9999
A=3 B=2
CcC=3 450 600mm D=39 500mm
F=1 G=2 3 ( 0. 2)
H=0 Il =1




0-0070

) S1000007 0 -0045
12m 1
0-0046
1.000
.9t
0-0047
1.000
1
A=4.1 ( km) B=1 12m
C=1 D=1 -
E=20.9 (t) F=1 -
H=1 J=1 -
L=1




0-0071

S1000009 0 -0046
12m 20. 090t 1
1.000
20.900t
1
A=1 B=4.1 ( km)
c=1 D=20.09 (t)




S10000009

0

-0047

0-0072

20.900

20.900

20.900

20.900
1

>
nou

= a1

D=20.

9

(t
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A &3 HEHRER (172)
I i E A A ®RO% Bifg D E & &t HEtsE
ANKELE
HIRER m 13.8 15.8 1.5 6.4 11.8 3.4 33.3 24.2 39.3 4.0 17.2 24.5 201.2
(ER) m 15.8 11.8 3.4 24.2 39.3 4.0 17.2 24.5 140. 2
(BR) m 13.8 1.5 6.4 33.3 13.6 33.3 107.9
AIFE
b [ o
T TEHEAI m3 13.9 14.9 10.8 1.5 10.8 3.3 23.2 28.0 8.4 21.8 29.5 3.8 28.8 35.7 240.4 240
BtT m3 2.4 1.4 2.3 0.4 7.0 3.0 58 3.3 5.6 11.6 13.9 56.7 60
SEEER
Y tiEmE m2 29.8 35.0 15.7 14.8 24.9 6.8 61.1 55.8 24.3 66. 6 83.6 8.4 29.2 56.7 512.7 510
[0 b v m2
EEBZE T ME
B il m3 30.4 31.9 21.1 16.3 25.6 9.6 56.9 54.0 20. 6 53.7 69. 6 2.4 38.1 31.6 461.8 460
HET
#EELT KiE MEt m3 21.6 33.6 16.5 13.6 19.7 4.8 57.8 42.5 22.9 49.8 61.5 8.8 37.8 53.9 450.8 450
EBREL m3 13.8 15.8 1.5 5.9 5.4 0.7 16.5 16.7 8.2 12.1 17.2 6.8 17.2 4.7 185.5 190
HEEE m2 9.7 1.1 5.3 4.5 1.8 2.4 23.3 16.9 9.5 23.3 21.5 2.8 12.0 17.2 173.3 170
avyy—rIJovii
9y R R
=3 Jay @i |#X50cm m2 26.9 33.1 14.7 12.3 24.9 5.1 58.2 51.4 26.5 67.2 75.5 6.9 34.9 52.1 489.7 490
RA%E #CYR  150~50mm m3 m24 1) 0. 265m3 129.8 130
BARR RC-40 m3 12.3 15.5 6.9 5.7 1.7 2.3 26.2 23.2 1.7 36.4 34.6 3.4 16.6 23.5 230.0 230
Kk LT EEAEL m 13.2 15.2 6.9 5.8 11.2 2.8 32.4 23.6 13.0 32.4 38.4 16.6 23.9 235.4 240
EEHY m 3.4 3.4 3
10mZ Y 1. 060m3 25.3 25
avyy—+r
7Oy ERET 18N/mm2 m 13.2 15.2 6.9 5.8 11.2 2.8 32.4 23.6 13.0 32.4 38.4 3.4 16.6 23.9 238.8 240
10m& Y 1. 260m3 30.1 30
i LRFAESAS t=10mm m2 26.9 33.1 14.7 12.3 24.9 5.1 58.2 51.4 26.5 67.2 75.5 6.9 34.9 52.1 489.7 490
MHOET H<. 0 avhy-t m3 1.4 1.5 1.4 1.4 1.5 1.2 1.8 1.4 1.3 2.0 2.0 1.4 1.4 1.4 21.1 21
fickzg m2 9.8 10.4 10.1 10.4 10.6 8.8 13.2 10.2 9.7 14.7 14.2 9.7 10.0 10.2 152.0 150
14t m2 0.9 0.9 0.9 0.9 1.0 0.7 1.0 0.9 0.8 1.3 1.2 0.8 0.9 0.9 13.1 13
AT 3.0=H5.0 -+ m3
fidk = m2
i3 m2
HAET
RiE e m2 6.8 6.8 10
MKRT
ERIOvy 0.5t @ 4.0 4.0 29.0 37.0 37




TEAN &R HEMRER (2.72)
I B 3l @ B B % By A B 4 D E F 4 H R BEtyE
T
tT il m3 3.3 2.5 2.6 1.3 2.8 1.9 1.3 1.4 1.3 1.4 0.8 2.5 2.4 2.6 28.1 30
% m3
ERIE m2 1.0 1.1 1.1 0.5 0.8 0.7 0.6 0.6 0.4 0.5 0.5 1.1 1.1 1.1 1.1 10
TYRHHFT
BT m2 5.3 5.7 3.2 6.0 4.5 2.8 3.1 2.7 3.1 2.7 5.3 2.8 47.2 47
Jovsik m2 6.0 2.7 5.8 14.5 15
vy — hEE t=35cm m3 2.1 0.9 2.0 5.0 5
8 ( *2.35) t 1.8 12
BEEXERhiR BE - BRE t 5.6 5.6 6
RE&ET
Rk EE m 40.0 25.0 415.0 480.0 480
Btaq47
Bt BAL m3 954.5 954.5 950
AL m3 1272.7 1272.7 1270
BEbF t=10cm m2 1245.0 1245.0 1250
BELF t=10cm m3 124.5 124.5 120
BkiR 2 4 7
SR (t-22) | 1.524mx 3. 048m #® 26 (16) 26 26
SR (-22)  |1.524m x 3. 048m m2 120.0 75.0 195.0 195
yEg t=22mm t 20.9 12.8 33.7 33.7
ERES t=22mm t 20.9  (12.8) 20.9 20.9
R#FET
RELDS h=1.10 & 1.5 1.4 2.1 1.2 1.6 2.4 1.1 1.3 11
KR h=1.10 & 2.1 3.0 2.1 2.9 1.8 2.4 2.1 17.0 17
BT $500 m 28.8 30.8 22.5 40.1 48.3 103.5 63.7 337.7 338
BAL m3 3.6 4.4 4.2 4.1 3.4 4.8 3.8 28.3 30
KET (1l 1.0 1.0 1.0 1.0 1.0 1.0 1.0 7.0 7
[EL Rk
IEMER m3 954.5 954.5 950
BEbF m3 124.5 124.5 120
BAL—X m3 1079.0 1079.0 1080
EEBRE (KEL05) m3 3.0 3.1 3.5 3.4 2.8 4.0 3.2 23.6 20
it m3 3.0 3.7 2161.5 3.4 2.8 4.0 3.2 2181.6 2180
KEBHNRHME
KERH =] 2.9 3.0 2.4 2.4 2.8 2.2 4.9 3.6 2.8 5.2 5.6 3.2 3.2 3.6 47.8 48
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=g aapll ;81 [A&EFr]

S
Gl

S



B2 B B X (Zo1)
£:8)1 [AS&FR)
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o S / /]
™ .
v LWL = / / /4&
bl ¥ /] &
= ./ /] #H
i N X &
I & NEHE g R H#k ZEEES
IUhY - h BB 0.7 0.7/ 3.1= 0.2 3.7 m3 /8
7' 0yhiE 8.1 8.1/ 42 0= 0.2 42 m2 /8
AT 2.0 2.0/ 1.0= 2.0 1 #&Ffr /H
&5t 2.4
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B2 B B X (Zo1)
£:8)1 [E&FR)

ITERS I f& oAl ®w Al BB B BRE M HEME 4 =
Bl £ \ a \

LARLT LRL2 | LR)L3 LALA LA)Ls | iz

KEEBISE

AT
T
TREHEI MEt+ m3 10.8 10
BtT
Bt m3 2.3 2
SREER
PtEm m2 24.9 20
EtRmE m2
RETL
HEET
Fz m2
f-JOvOBT
FETT
PRI et m3 19.7 20
HERL mAL m3 5.4 5
EMEEE m2 7.8 8

avoy—rJavoE

avy)— hRpER

JOoy E#E $#Z50cm m2 24.9 25/1:0. 4
BiARAR RC-40 m3 1.7 12
Kifm T REEL m 11.2 11
FISRBT  wmr  om 1.2 11 t=0. 50m
W UBALEAT t=10mm m2 24.9 25
TRIovy 0.5t m 3.6 4 n=3.6/0.9=4
MOLT
H<3. 0 avy)—bk  pE 18N/mm2 m3 1.5 1IN=2
ik — % - IR m2 10.6 11
e#E m2 1.0 1
3.0=HG.0 oo Y—k  [/hE, 18N/mm2 m3 0.0 0[N=0
iy — % - R m2 0.0 0
et m2 0.0 0




B E B FE X (Z02)
=.8)1l [EEFT]
ITEXS I #& 7 Al W B BRO% H |, T
LALL LARL2 | LAL3 | LA LAJLS E BEMM HEHEL B O
MT
T
1A m3 2.8 3
Bt m3
PR m3 0.8 1
|-
AR (T YRFITI)
#EH/3Bem | m2 6.0 6
Jay i@ YRETI)
£ 2 35cm m2 0.0 0
BRI ARE
BREER IR AR W2.0-L4.0-10.3) t 5.6 6
REET
RERE R TR m
B4 7
Bt BAL m3
B FI £=10cm m3
kR 17
E8%4R (1-22)  [1.5mx 3. Om (5.
BEE t=22mm t
fR#FE] T
RETDS h=1.10 S
Ak h=1.10 S
AT ¢ 500 m
Bt BAL m3
K&ETL T
ERZELNE
K asy H#hill m3 25.6 30
fRExEE LT m3 0
EGE | m3 0
EXEZL m3 0.0 0&t+/1.2
&t m3 25.6 30
KEHHEARHE
KEBH =] 2.8 3




=
T = B 49 =X
I & E Al M B &5 B LIk FieEx BifE+E [ E]
T
#ER+T 9.9
v+ T eE L C(SE) m3 13.6 0.9 12.2
BT
E+T AL B m3 2.3 2.3 '
HET
73 HIR+ET 13.1
1EEXTT MEL E(SE) m3 20.5 0.9 18.5 >
HREL
AT Fu m3 5.4 b4 —
HEEIF K m2 7.8
Y+ 2H/ SL m2 24.9
2R SL m2 0.0
EEBETMIET
23.0
s+ m3 25.6 0.9 23.0 <
Brast lgHE m3 25.6
aVEURL m3




HERFE

T+ T
+ T EEER EELXT
7 ;| =1 w _
BHREUH LR Il Bt g+ Bt B4 25 EERE
B m m3 m3 m?2 m?2 m3 m3 m2
T 11.8 10.8 2.3 24.9
BT 19.7 5.4 7.8
H 11.8 10.8 2.3 24.9 19.7 5.4 7.8




it 5 ® T T g 2
' Hl
A = B B C ¥ i & ¥ i B &
SECT 6.4 - 1.9
SECT 15.0 8.6 0.1 1.00 8.6
SECT 18.2 3.2 1.3 0.70 2.2
8 § 11.8 10.8




Z = + T it B OE
B o+
W & E OB OB F ¥ u W T o ou B
SECT 6.4 - 0.0
SECT 15.0 8.6 0.4 0.20 1.7
SECT 18.2 3.2 0.0 0.20 0.6
& i 11.8 2.3




. & e it B2
Yt iEmER B iEmER
bl IR Bt L I 1y F i * ¥ ¥ i ;]
SECT 6.7 - 2.8
SECT 14.6 1.9 2.2 2.50 19.8
- 1.2
SECT 15.0 0.4 1.2 1.20 0.5
SECT 17.9 2.9 2.0 1. 60 4.6
8 & 1.2 24.9




EETA) #H = &5t X
19—+ rh ZEFEF (0. 81t/m2) HET
Z M B U E A HE Javy RiARR XimLT 7oy EBRT RHBE LA FERIowH
$#220. 50m RGC-40 EmAL 1:0.4, t=0.50m t=10mm 0.5t
Bifsf m m?2 m3 m m m2 m
#Ex 11.2 24.9 11.7 11.2 11.2 24.9 3.6
H 11.2 24.9 11.7 11.2 11.2 24.9 3.6




EEFET(2)

BB %GR

/IALET (3. 0=H<5.0)

/A LET (HSS. 0)
I N =1 bidl Bl
% ﬁ-& UIEII N EE :DOIJ_I\ & :>7|J—I\ *"'
INEY e#E INEY e %t
IRy m3 m?2 m?2 m3 m2 m2
95/pOLET 0.3 0.9 6.2 0.6 H= 2. 89m
108/hMALLET 0.3 0.6 4.4 0.3 H= 2.07m
H 0.6 1.5 10.6 1.0




it % & XTI it B2
K #E (BEL) #RL EmEIE
A = JisE: Ty I Fu 15 IR K 15 i
SECT 6.7 - 1.9 0.6 0.7
SECT 14.6 1.9 1.9 1.9 15.0 0.6 0.60 4.7 0.7 0.70 5.5
- 1.4 0.2 0.7
SECT 15.0 0.4 1.4 1.40 0.6 0.2 0.20 0.1 0.7 0.70 0.3
SECT 17.9 2.9 1.4 1.40 4.1 0.2 0.20 0.6 0.7 0.70 2.0
a8 & 11.2 19.7 5.4 1.8




it % = JoyvI®EI it B

1YY - e ZERE R (0. 81t/m2) AR

B = B B SL ¥ 1 F iF Gv F 1y

SECT 6.7 - 2.7 1.3

SECT 14.6 1.9 2.1 2.40 19.0 1.0 1.15
- 1.8 0.8

SECT 15.0 0.4 1.8 1.80 0.7 0.8 0.80

SECT 17.9 2.9 1.8 1.80 5.2 0.8 0.80

24.9

0P
=111}
N




W) -MRpERIER (TR % B Ot H

(1:0.4,0.81t/m2)

avyy—rInviH

$=1:100

XigavoU—+

EAEB0.81t/mLLE

GEERFYEAT)

Y- ERE R

(Z=F%) (1:0.4,0.81t/m2)

Kimars—+

GEEML 51 F) 8=1:30

avoy—+r

o ck=18N/mm2 806

Riarsu—+
GEEA Y54 7) 5=1:30

avyu—+t

avy—t
0 ck=18N/m2

JOv ERT

5=1:30

e B
P 3 .
q R g
g K s
™
y a / )
i P
v —+ 10m4 Y
EEaLyU—b 1%y §:§Im - 1on2
[t [ 106 | [(Am | ®& | ] &
) 1.260 md
E 4.14 m2
@ | 20 m
200 m REEH 7.64 m2
= oy = =
vp)-MElchze R (2R M OB OB H
]J7 T =x=ax/F \=1R = A

[Riga ]
avyy—+F
Gt} %
[ H#HIT)
avyy—+F
Gt} %

BB

o ck=18N/mm2
—fg - B

o ck=18N/mm2
—fg - B

RC-40, t=100mm

]

,_

E K
11.2

11.2
11.2

11.2
11.2
11.2

HUEDE &

1. 068
1. 860

1. 260
4.140
1. 640

&
felo

1.20 m3
2.08 m2

1.41 m3
4.64 m2
8.56 m2




NOET M E B E L=0. 3m
£ moOR % 1 = EEELE ¢
[95] E-SECT 6.4 H= 2.89m
avg1)—+bt | ock=18N/mm2 &R &L Y 0.87 m3
] BN B OBERELY 680 — 061 6.19 m2
it % (2.89-1.00) x1.077x0. 30= 0.61 m2
[105] E-SECT 18.2  H= 2.07m
avo1)—+bt | ock=18N/mm2 &R &L Y 0. 60 m3
] BN B OBEREY 472 - 0.35 4.37 m2
it % (2.07-1.00) x1.077x0. 30= 0. 35 m2




MT (W% - B

BB %A R

TYHITT B a% PR R fEELT
£ R U S =R %% 35 ®

2 % Rk U E & ﬁ%;fa . ;;J’ﬁﬁ(# Z ﬁc;; B AZE . Bt KR

B m?2 m?2 m3 t m3 m3 m3

EI8 6.0 5.6

wE

T 2.8 0.8

5.6 2.8 0.8

6.0




MT (W& - E1H)

it oE

il

s

T (= - EI18) # = i B
£ R R O® g = =
FTYMFT
A & MENF0.35 A=1/2%x (0.54+1.9) x2.9%x1.0774+1/2% (0.5+1.5) x2.1x1.077= 6.0 m2
BET
BE % K R T FE V=2.0x4.0x0.3= 2.4  m3
BHAESE w= 2.35 t/m3
RIRE=S W= 2.4 X 2.35 = 5.6
T
12 1] (©) 1/2x1.9%1.94+1/2x1.3%x1.5= 2.8 m3
B x (B) m3
K # ©® 1/2%1.9%0.54+1/2%1.4x0. 5= 0.8 m3




& T M E KX

REERR BEoA T REEE BERE AT WY T KEBEH  KET
2% 980 %: ()= Bt BUELF|  1500x3000(m)  EREE AKELDS BT
h=0.50m = t=10cm t=22mm BmOIUE  RARE ¢ 500
B {51 m3 m3 ® t ) = m H HRr
% 2.8

2.8




REELT (OKEI) =T EE
KEBEHHEREE=
JOovyig
BIEZEE L= 11.2m 10m% Y
HE@T HY-p V= 1.4 m3 1.26 m3
B A= 4.6 m2 4.14 m2
HEl# A= 8.6 m2 7. 64 m2
TR E BANS H= 0.7m
FKEL h= 0.3m
HEQE 1:0.4 == 1.077
A= (0.7+0.3+0.3) x1.077x11.20 =
= 15.7 m2
NOET 2
HERE X
/ /]
s/ /]
s 8 7 /]
il I — /] &
= ./ /] #H
i N X &
I & NEHE g R H#k ZEEES
IUhY - h BB 1.4 1.4/ 3.7= 0.4 3.7 m3 /8
7' nyhig 15.7 15.7 / 42.0= 0.4 42 m2 /H
AT 2.0 2.0/ 1.0= 2.0 1 #&Ffr /H
&5t 2.8
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B E B B X (01
2:8)Il [FERT)
IEXyS I f& BOAl W Bl B B =& o | = "
LA LAL2 | LALS | LAwd LALS i Wb LEE R OB
KEEIBIE
ANtET
T
TRV A MEt+ m3 3.3 3
BtT
Bt m3 0.4 0.4
SREER
PtiEm m2 6.8 10
EtRmE m2
RETL
HEET
Fz m2
f-JOvOBT
FETT
I3 MEt m3 4.8 5
HERE AL m3 0.7 1
EEEE m2 2.4 2
avyy—+rJovoiE
Ay — hRpER
Jay o mEE  $#250cm m2 5.1 5/1:0.4
BiARAR RC-40 m3 2.3 2
K T REEL m 2.8 3
7oy ERT 1:;3»1//%2” —F m 2.8 3/t=0. 50m
W UBALEAT t=10mm m2 5.1 5
TRIovy 0.5t m 3.4 3 n=3.4/0.9=4
hOET
H<3. 0 avy)—bk  pE 18N/mm2 m3 1.2 1IN=2
iy — % - B m2 8.8 9
et m2 0.7 1
3.0=H<KG.0 avy)— bk [/pE, 18N/mm2 m3 0.0 0[N=0
iy — % - B m2 0.0 0
et m2 0.0 0




B E B B X (02
AN GERD)
TERS T B BN @ A BR B eemnisin B
LAJLT LARL2 | LARL3 LU LRLs | I
T
T
A m3 1.9 2
> % m3
Z3i m3 0.7 1
BIHT
B (T YHHT)
)5 35cm m2 4.5 5
IOy sH T YRET)
& % 35¢m m2 0.0 0
RET
REER IR m
BEaAT
> % BAL m3
B F t=10cm m3
BEkiR S A T
BEktR (t-22) |1.5mx 3. Om ®
¥E= t=22mm t
R T
ABEDS5  h=1.10 £
KL h=1.10 £
BT @500 m
Bt BAL m3
KET Sl
TR
“ktaosn Hhl m3 9.6 10
ezt m3 0
R m3 0
Bt m3 0.0 0 m+/1.2
&t m3 9.6 10
KE B RHE
KEBH B 2.2 2




=
T 2 B 9 =
I & #E A M B | &85 H4I thiloixis e BRLBELTE Eo ot
T
BT 4.3
v+ T eE L C(SE) m3 5.2 0.9 4.7
BT
E+T AL B m3 0.4 0.4 '
HET
PR IR+ T 4.3
1EEXTT MEL E(SE) m3 5.5 0.9 5.0 >
HEREL
AL Fu m3 0.7 0.7 «—
HEEIF K m2 2.4
Y+ 2H/ SL m2 6.8
2R SL m2 0.0
E 1k
8.6
s+ m3 9.6 0.9 8.6 <
Kt &F hilBE m3 9.6
aJVEIEL m3




+ T I
+ T EEER EELXT
7|\ N 7 ,'f—(_'\ \ls I=
BRRUM LR I Bt gt Bt B4 25 EERE
B m m3 m3 m?2 m?2 m3 m3 m2
+T 3.4 3.3 0.4 6.8
F¥xT 4.8 0.7 2.4
H 3.4 3.3 0.4 6.8 4.8 0.7 2.4




=
' Al
B = B B ¢ T ¥y g B T ¥y I B &
SECT 0.0 - 1.2
SECT 1.5 1.5 0.7 0.95 1.4
SECT 3.4 1.9 1.3 1.00 1.9
8 § 3.4 3.3




Z = T+ T g £
B o+
W & E OB OB F ¥ u W IR A
SECT 0.0 - 0.1
SECT 1.5 1.5 0.1 0.10 0.2
SECT 3.4 1.9 0.1 0.10 0.2
& i 3.4 0.4




I x T+ T i ' &
Y+ AEER B AEER
M A B OB L T ¥ T M T 19T B @
SECT 0.0 - 2.0
SECT 1.5 1.5 2.0 2.00 3.0
SECT 3.4 1.9 2.0 2.00 3.8
& 3 3.4 6.8




EETA) #H = &5t X
19—+ rh ZEFEF (0. 81t/m2) HET
Z M E U & EE Jowvy RiARR Kif T 7oy EBT RELBEM FERIovs
% 2.0. 50m RC-40 EmAL 1:0.4, t=0.50m t=10mm 0.5t
Bifsf m m?2 m3 m m m2 m
E= 2.8 5.1 2.3 2.8 2.8 5.1 3.4
H 2.8 5.1 2.3 2.8 2.8 5.1 3.4




EEI (2 MEKEEHR
/NALET (HSS. 0) MOIET (3. 0=H<5.0)
I N =1 pidl Bl j
% ﬁ-& UIEII N EE :DOIJ_I\ & :>7|J—I\ *"'
INEY e#E INEY e %t
IRy m3 m?2 m?2 m3 m2 m2
MsS/haltkT 0.3 0.6 4.4 0.4 H= 2. 09m
128/hA1T 0.3 0.6 4.3 0.3 H= 2. 06m
H 0.6 1.2 8.8 0.7




O x EXLTT ER - -
K (#E1) BRL HEmEEE
B oA oA T W Fu RH @ K FH RH
SECT 0.0 - 1.3 0.2 0.7
SECT 1.5 5 14 13 20 02 02 03 07 070 1.1
SECT 3.4 19 15 145 28 02 02 04 07 070 1.3
& % 3.4 4.8 0.7 2.4




= y N =+ =
it F = JOyoET iF E OE
) -RpZeEE I (0. 81t/m2) HARER

p:[] =Gl B SL F ¥ & Gv. 5 31 & fid
SECT 0.3 - 1.8 0.8
SECT 1.5 1.2 1.8 1.80 2.2 0.8 0.80 1.0
SECT 3.1 1.6 1.8 1.80 2.9 0.8 0.80 1.3

& & 2.8 5.1 2.3




W) -MRpERIER (TR % B Ot H

(1:0.4,0.81t/m2)

avyy—rInviH

$=1:100

XigavoU—+

EAEB0.81t/mLLE

GEERFYEAT)

Y- ERE R

(Z=F%) (1:0.4,0.81t/m2)

Kimars—+

GEEML 51 F) 8=1:30

voy—
avoy—+r 806

Riarsu—+
GEEA Y54 7) 5=1:30

JOv ERT

5=1:30

0 ck=18N/mm2 avpy—p aumy—t
. G oke1aN/m2 oo TaNmz
e B
i _ g j;
o 8
3 s
d S s
™
4 2 7 / )
| P
v —+ 10m4 Y
EEaLyU—b 1%y §:§Im - 1on2
[t [ 106 | [(Am | ®& | ] &
) 1.260 md
B g 4.14 m2
(2% | 20m |
B = REEH 7.64 m2
- 3k, = =
vy -hElchZe R (7)) B it &
]J7 T =x=ax/F \=1R =2 A

[Rim3 >]
arvosy—+
il P
[ £ 8 I]
arvosy—+
il P
= B M

BB

o ck=18N/mm2
—fg - B

o ck=18N/mm2
—fg - B
RC-40, t=100mm

]

,_

E K
2.8

2.8
2.8

2.8
2.8
2.8

HUEDE &

1. 068
1. 860

1. 260
4.140
1. 640

&
felo

0.30 m3
0.52 m2

0.35m3
1.16 m2
2.14 m2




hOwkT #H = i & L=0. 3m
£ moOR % 1 = EEELE ¢
[115] F-SECT 0.0 = H= 2.09m
avg1)—+bt | ock=18N/mm2 &R &L Y 0.61 m3
] BN B OBEREY 476 - 0.35 4. 41 m2
it % (2.09-1.00) x1.077x 0. 30= 0. 35 m2
[125] F-SECT 3.4 = H= 2.06m
avo1)—+bt | ock=18N/mm2 &R &L Y 0. 60 m3
] BN B BEREY 469 - 0.34 4. 35 m2
it %  (2.06-1.00) x1.077x0. 30= 0. 34 m2




MT (W% - B

BB %A R

FTYREFT frELTT
5 R U EE % % 35 5
EERTAE %’E%ﬂgfo. 35 ;;ﬁw%(# i jc:ﬁ) ﬁagzl = e i
Bf m2 m2 m3 m2 m3 m3 m3
I 4.5
=
+T 1.9 0.7
1.9 0.7

4.5




MT (W& - E1H) #

it oE

il

MT (X - E18) #H 2 F E

% 5 I " = 1
TYMTT
A B HE7F0.35A=1/2%x (0.5+1.5) x2.1x1.077+1/2x (0.5+1.5) x2.1x1.077= 4.5 m2
J 0oy Y & $EZ3bcm m2
F @B I m2
BWET
Jno oy # #x3bem V=0.0x0.35 0.0 m3
o e
" Al (C) 1/2x1.2x1.5+1/2x1.3x1.5= 1.9 m3
B X ® m3
K #® ©® 1/2%1.3x0.5+1/2x1.5%0.5= 0.7m3




& T M E KX

REERR BEoA T REEE BERE AT WY T KEBEH  KET
2% 980 %: ()= Bt BUELF|  1500x3000(m)  EREE AKELDS BT
h=0.50m = t=10cm t=22mm BmOIUE  RARE ¢ 500
B {51 m3 m3 ® t ) = m H HRr
% 2.2

2.2




REELT (OKEI) =T EE
KEBEHHEREE=
JOovyig
BIEZEE L= 2.8m 10m% Y
HE@T HY-p V= 0.4 m3 1.26 m3
B A= 1.2 m2 4.14 m2
HBEM A= 2.1 m2 7. 64 m2
TR E BANE H= 0.4m
FKEL h= 0.3m
HEQE 1:0.4 == 1.077
A= (0.4+0.3+0.3) x1.077x2.80 =
= 3.0 m2
NOET 2
HERE X
/ /]
s/ /]
o S / /]
™ .
i S o / //4&
il I — /] &
= ./ /] #H
i N X &
I & NEHE g R H#k ZEEES
IUhY - h BB 0.4 0.4 /3.17= 0.1 3.7 m3 /8
7' 0yhiE 3.0 3.0/ 42.0= 0.1 42 m2 /8
AT 2.0 2.0/ 1.0= 2.0 1 #&Ffr /H
&5t 2.2
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B2 B B X (Zo1)
£:8)1 [GE&FR)

ITERS I f& oAl ®w Al BB B BRE M HEME 4 =
Bl £ \ a \

LARLT LRL2 | LR)L3 LALA LA)Ls | iz

KEEBISE

AT
T
TREHEI MEt+ m3 23.2 23
BtT
Bt m3 7.0 7.0
SREER
PtEm m2 61.1 60
EtRmE m2
RETL
HEET
Fz m2
f-JOvOBT
FETT
PRI et m3 57.8 58
HERL mAL m3 16.5 17
EMEEE m2 23.3 23

avoy—rJavoE

avy)— hRpER

JOoy E#E $#Z50cm m2 58. 2 58/1:0. 4
BiARAR RC-40 m3 26.2 26
Kifm T REEL m 32.4 32
FISRBT  wmr  om 32.4 32 =0. 50m
W UBALEAT t=10mm m2 58.2 58
TRIovy 0.5t m 25.5 26 n=25.5/0.9=29
MOLT
H<3. 0 avy)—bk  pE 18N/mm2 m3 1.8 2|N=3
ik — % - IR m2 13.2 13
e#E m2 1.0 1
3.0=HG.0 oo Y—k  [/hE, 18N/mm2 m3 0.0 0[N=0
iy — % - R m2 0.0 0
et m2 0.0 0




B 2 B B X (Z02)
=.8)1l [GEFT]
ITEXS I #& 7 Al ] Al BRO% # |, T I
LA LAL2 | LALS L=ud LAJLG o BEEE HiwE @ F
MT
T
izl | m3 1.3 1
Bt m3
RE m3 0.6 1
BT
BRI YT
#EIG3Bem | m2 2.8 3
JaysBEEFYRETI)
£ 2 35cm m2 0.0 0
REET
R E% i B ER m
BtaAT
Bt BAL m3
B FI t=10cm m3
26T P
E8%HR (1-22) (1.5mx 3. 0m ®
BEE t=22mm t
R T
KE+DS h=1.10 ® 1.6 2
Ak h=1.10 ® 1.8 2
BT ¢ 500 m 48.3 48
Bt BAL m3 3.4 0
KETL EFT 1.0 1
ERZELNE
®iuosn ol m3 56.9 60
ekt m3 0
BREDFI m3 0
EXEZL m3 2.8 3 ®ELE/1.2
&t m3 59.7 60
KEBHNEHE
KEBH =] 4.9 5




=
T = B 49 =X
I & E Al M B &5 HEfu wlUoiiEs TR BEimELS [ E]
T
#ER+T 15.1
v+ T eE L C(SE) m3 24.5 0.9 22.1
BT
E+T AL B m3 7.0 7.0 '
HET
73 HIR+ET 36. 1
1EEXTT MEL E(SE) m3 58.4 0.9 52.6 >
HREL
AT Fu m3 16.5 16.5 —
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